123-106( 661-1) (1/1)

cm
10|20
10(20(30
0 30 40 50 60
E  |0.49 0.49 3
E VAYAYAYA =
E VAAAI E
E ANANAN 3
= \VAVAVAVAY) 1.00 2|4 =
IAYAVAYAYAN /|7 =
VAVAVAVAY] 11 ]12]|32]3.4 =
ANANAN 1.32 3
1.70 130\ \/\/\/ =
AYAYAYAYAY -
\VAVAVAVAY; 2.00 3 =
IAAYAYAYA / =
VAVAVAVAY] 1113 4 =
AANAN 2.30 E
(VAVAVAVAY] =
NN 3
A\YAVAVAVAY —
OO0 > Ay E
ANAAAN I 111115135/ 3.4 =
VAVAVAVAY] - =
AANAN =
(VAVAVAVAY] =
NAAAN 14.00 | } } 3 j
A\YAVAVAVAY -
IAYAYAYAYAY 14 6 14 [ 34| 3.5 —
A\YAVAVAVAV 4.34 :
AANAN B
VAVAVAVAY] =
AANAN 5.0001|1]|2]4 =
(VAVAVAVAY] 71717 =
posD AFIFAEIEE E
5.65 3.95/\ /A AN 5.37 =
6.00] 1 4 =
/ / =
.58 000 6.75 5] 3 35 | 3.4 =
akleX 6.35 3
Q5959 —=Z= 32 50 \\ =
0:070 17.00 / / =
[HoRtel 18] 9 19 |78.9 =
O-0-0 7.19 -
-0-0- =
0-0:0 =
“0 0> - =
07070 8.00 =
“07 0> / -
0:070 14]8 |16[30]| 39 3
~0 0> 8.30 =
O-0-0 —]
62626 36 =
20902 9.00 ;i
~O~ 7 |11]18]30]| 3
62596 9.30 /
62620
e 2 =
10.10 3.85-0-O- 11000} i =
10]6|8/[3]| 24 =
10.30 E
11.00 22 =
7 ]
6|88 |3]| 29 =
11.30 E
11.95 1.85————— 12.00 1/5 =
4|5]6]3] 15 3
12.30
12.99 0.9 1300 i =
5|66 |30 17
13.30 E
14.00 2/6 3
14.35 1.4 7 |10] 9 [30] 2§ \\ =
O-O- 0O 14.30] \ 3
C')O'OO(') 50 50 =
1O: / / =
~0-0 - 15.00] § 5 | 25 =
05059 15.06 =
0:070 =
. O . O . 3
0-0-0 =
5 |50 =
SOL9L 16.00 717 =
16.15 1.840 OO 27|18 | 3 |23]65.2 — B
16.23 3
~~~~~ 15 | 50 =
= 17.00 15| 50 =
= N 14|21 8 |28]53.9 — =
E |l T 17.28 =
E ol [ 13 | 50 =
Eas| | | 18.00 1Y =
E 15| 22| 6 | 26 |57.7 — =
E ol ] |- 18.26 =
N 15 | 50 =
Fwol | 00 j19-00) 7|7 -
E 14|21 7 |27 |55.9 — 3
E  [19.50 19.27 E
12 | 50 =
20.00 AW
20.25 16]20|5 |25 6 —
20.25




